TV E . O]

program GTE (T ity Saurday
mester: Wini Time: 9:00 am to 12:00 pm. Morning

ISLAMIC UNIVERSITY OF TECHNOLOGY (IUT)
ORGANISATION OF ISLAMIC COOPERATION (0IC)
DEPARTMENT OF TECHNICAL AND VOCATIONAL EDUCATION (TVE)

Examination: Semester Final Academic Year: 20222023
Course No: TVE 4103 Full Marks: 150
Course Title: Educational Psychology Time: 3:00 hours

There are 7 (Seven) questions. Answer any 6 (sm questions.
Figures in questions.

1. (2) What is functionalism? How does it differ from structuralism? What was the main criicism of (10) COI
William James about stricturalism?
(b) What s the key issue in the debate of crirical vs sensitive periods of human development? What s (15) COI
‘our position in this debate? Give reasons for your answer.

2@ ot of (10) cot
becomes the founding principle of classical conditioning theory?
® > Pl as) cot
3. (3) What are the differences between deficiency needs and being needs? What level are you in this (5) CO2
‘hierarchy of needs? Explain with an example.
) b ® co2
et inphyscsclass. - Wit Kindof motation docs Salma st n s cxample? xin
(©) Some teachers select the project 0pi and ins 2 co2
works on their own. ~
‘reasons for your answer.
4. (a) Whatis intelligence? (5) co2
(b) Jasmine is able to handle. (10) co2
Ryan, on the other hand, knows mullnplt languages and has gvealcumm'ul in ewh u/lhe-u Sara,
however, is

based on Gardner's Multiple Intelligence Theory.
(€) One person may be particularly gified in language related activiies and poor in recalling lists of (10) CO2
digits while another alise easily but
~ How do you explain these individual diff ‘What theory does Ch English
pychologist,

5 . whatis schema? (10) cot
(9 5 hd il e < e i e v e 0k 7o o s (15) CON
picturing the carth ike aflat disk or a coin. However, when the child is confronted with a globe on

is not correct, ~ What are the two cognitive processes that this child needs 1o use to develop her
the earth? Expl P
6 (&) Whatis objct pormanence?Give n example.
() How does hildren's thinking ol
©4 fnow that 4+2 6 the reverse is true ie., 6-
does the child not perform this task? Iﬂrv\nly the child's stage Mcognlw: devclopment
7. (a) Whati Tassify it
®) o effect i
with the law of effect?




